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Sequences: Lesson 3 - Practice with Arithmetic and Geometric Sequences Algebra 1 CC
“I can differentiate between arithmetic and geometric sequences to write equations and find missing terms.”
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,/ Warm Up: fill in the blanks- \

When given a sequence, if we ‘add/subtract to get to the next term, called the common _{AI f%f CE,

@ it's referred to as an {] fI‘H’” Y KZ‘h Cgsequence. The graph is l )' ncar

The'explicit formula used is = + ~ )

0

When given a sequence, if we multiply by a whole number or fraction, called the common I’ ﬂf/O ,

it's referred to as a ge DN Zﬁit l: sequence. The graph is ﬂm

\ The explicit formula used is

o T - — ——
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Guided Practice:

———
A Arithmetic _ Dd You are given the two equations to the left on your
Sequence a, =a;+ (nfr )d < REFERENCE SHEET.

rithmetic: Linear - common difference %
Geometric: Exponential - common ratio >

>

Geometric

—— — ———

a =a An |
Sequence "

Exercise 1 - Determine whether each sequence is arithmetic or geometric. State the common difference
or common ratio. State if the graph would be linear or exponential.

Sequence Arithmetic or Common difference Linear or
q Geometric or Common ratio Exponential
A 13.13.1L9. - | Arithmetic ad=-2 Linear
b) 1,4, 16, 64, ...
9 2:08-16 - | Geometric r=-2 Exponeniol
"=y %7 %z I
Exercise 2- Determine if the following sequence is arithmetic or geometric: 50, 10, 2, ... ¥ \QQ e oer
) n-\ Xk‘) - Oz
a) Write an explicit formula. a-ﬂ - 5 ®) L —5’ ) 5 = I

b) Find the 5t term

Exercise 3- Determine if the following sequence is arithmetic or geometric: 35, 32, 29, 26, ...

a) Write an explicit formula.

b) Find the 25t term



Regents Questions: Show all work leading to your answer.

1. The third term in an arithmetic sequence is 10 and the fifth term is 26. If the first term is a,, which is
an equation for the nth term of this sequence?

(Da, =8n+10 3)a, =16n+10

(2)a, = 8n — 14 (4) a, = 16n — 38

2. Which formula can be used to find the nth term in the geometric sequence 96,72, 54, ...?

(e, = 96E)" ! < grovns 3T a, = 96(3)" =
AN g (™

yncceasivg
— 3\yn-1 — 3\n
m%—%% (4) a, = 960)
T
20
3. The diagram below represents the first three terms of a sequence. /(0

/2 TTT1
ﬂ,,,-‘-‘-(l;"’d(f?") T

an:/a-r‘-f (i’)—-l)

Term 1 Term 2 Term 3
Assuming the pattern continues, which formula determines a,,, the number of shade%%in the

nthterm? /a+ 4(ﬂ‘l>

V(D a, =4n+ 12 J(3)a, =4n+4
- B (@eanCD

S/ Dan=4n+8 (4)a, =4n+2 an:qn +&

4, A theater has 35 seats in the first row. Each row has four more seats than the row before it. Which
expression represents the number of seats in the nth row?

(1)35+(n+4) 3)35+(n+1)(4)
(2) 35 + (4n) (4) 35 + (n — 1)(4)

5. Answer the following questions given the explicit formula a,, = 2(&)"‘1 whenn >1

a) Finday,a;a3.a,

b) State whether the sequence is arithmetic or geometric. Justify your answer.



